35th Petrozavodsk Programming Camp, Summer 2018
Day 7: Izhevsk STU + Ufa SATU Contest, Wednesday, August 29, 2018

Problem A. Equal Digits

Input file: standard input
Output file: standard output
Time limit: 3 seconds
Memory limit: 256 mebibytes

There is a string s consisting of decimal digits.

You need to transform the string s into any non-empty string ¢ in which all digits are different. To
achieve the goal, you can choose and remove a set (possibly empty) of non-intersecting substrings such
that the length of each substring is strictly greater than 1, and in each substring, the first digit is equal
to the last one. Find the number of ways to choose such set.

Two sets are different if one of them has a substring that does not exist in the other. Substrings are
different if their start or end positions differ.

Since the number of ways can be quite large, output it modulo 10° + 7.
Input
The single line contains the string s (1 < |s| < 10°) consisting of decimal digits.

Output

Output one integer: the answer to the problem.

Examples

standard input standard output
88005553535 7

123 1
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